Year 2 Practice Book 2B Unit 7: Statistics

Unit 7: Statistics
Making tally charts

=» pages 35-37

1. Answers from top to bottom:
a) 19,17,13,11
b) cat, fish, 4

2. Children should have completed the chart to show the
following tallies and frequencies:

football: M M MT, 15
rugby: MT | 9
tennis: W Wt 1l 13
cricket: T Mt 1, 12

3. Children should have completed the chart to show the
following tallies and frequencies:

vegetables: W T M I 17
chicken: M Wt 11119
meat feast: Mt T Il 14
cheese: M Mt Il 13
mushroom: Mt 1|, 7

Children could have completed the statements in
different ways, e.g.

More people prefer meat feast than cheese.

The least popular pizza topping was mushroom.
Two more people chose chicken than vegetables.

Answers will vary depending on pupil data.

Creating pictograms (I)

=» pages 38-40

1. a) Children should have completed the tally chart to
show the following tallies and frequencies:

Shape Tally Number
circle W 5
square Il 3
triangle W 8

b) Children should have completed the pictogram as
follows:

Shape Number

circle xxxxx (5 crosses)

square XXX (3 crosses)

triangle [ xxxxxxxx (8 crosses)
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. Children should have completed the pictogram using

their chosen icon to represent 1 leaf, e.g.

Leaf Number

ash iiii (4 of chosen icon)
beech ii (2 of chosen icon)
birch iii (3 of chosen icon)
oak iiiiiii (8 of chosen icon)

. Children should have matched:

Top tally chart =» bottom pictogram
Middle tally chart =¥ top pictogram
Bottom tally chart =» middle pictogram

. Children should have drawn 7 children into the tennis

row of the pictogram.

Children should have written in the words in the
following order:

count, draw, match, make (children may also have
written ‘count, match, draw, make’)

Creating pictograms (2)

=» pages 41-43

1. a) Children should have completed the chart to show

tallies and frequencies as follows:

Sticker Tally Number
sun WM 15
smiley face | W T 10
rainbow W 8
star WML 11

b) Children should have drawn the following number
of circles into the pictogram:

sun: 7
smiley face: 5
rainbow: 4
star: 51

. Children should have matched:

Top tally chart =» middle pictogram
Middle tally chart =¥ top pictogram
Bottom tally chart =» bottom pictogram

. Children should have drawn the following number of

ball icons into the pictogram:
Hassan: 23

Alfie: 4

Lola: 5
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Children could have suggested different choices but
should have given sensible reasons for their choice, e.g.

Book = 5 children: If 1 picture represents 1 child, it would
be difficult to quickly interpret the pictogram because

you would need to count lots of pictures. If 1 picture
represents 10 children, it would be hard to show a number
like 17 accurately. If the book represents 5 children, this
would mean that there are not too many pictures but that
it is possible to show numbers quite clearly.

Interpreting pictograms (1)

= pages 44-46

1. Children should have completed the tally chart as
follows:

Medal colour | Tally
gold W
silver Ml
M

bronze

a) 12
b) 17
Q5

2. a) 3, 3, daisies
b) 46
¢) There are two possible answers:
daisies and sunflowers
poppies and daffodils

Children should have appreciated that the icons used in
a pictogram should be the same size because, otherwise,
it is hard to compare the information in different rows.

Interpreting pictograms (2)

=» pages 47-49

1.a) 12
b) 4
Q9
d) 33
e) No

2. a) Class 1
b) 4
c) 30

3. Children should have drawn the following number of
tyre icons into the right-hand pictogram:
route 1: 5
route 2: 3
route 3: 4
route 4:5
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Children might have made different choices but should
have been able to give a clear reason for their choice, e.g.

I would choose the top pictogram because it is easier to
see the information in the whole pictogram.

I would choose the bottom pictogram because it is easier
to see which rows of icons are longer and shorter.

Block diagrams

=>» pages 50-52

1. a) Climbing frame
b) Horse
o 18
d) 13
2. Children should have shaded the following number of
blocks (from bottom upwards) in the columns of the
block graph:
Apple: 16
Pineapple: 7
Banana: 14
Plum: 8
Grapes: 12
3.a) 16
b) 7
¢) Children should have circled the safari.

4. Children could have noticed the following mistakes:
The number 11 has been missed out of the scale.
The rows (blocks) should all be the same height.

Children could also have commented that each
column needs a label to show what the block graph
is about.

Children could have suggested different reasons, e.g.

It would need 80 blocks in the middle column and this is
too many to sensibly draw.
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Solving word problems

=» pages 53-55

1. a) Children should have shaded 7 blocks in the bus
column of the block graph and completed the tally
chart to show the following tallies and frequencies:

Transport | Tally Number
car W 8

bike M 6

walk MW 9

bus Ml 7

b) 2

¢) Children should have drawn the following number
of circles into each row of the pictogram:
ars
bike 3
walk 4
bus 33

2. BEEKEEPER

3. a) Children should have completed each diagram to
show the following frequencies:
red 5
blue 8
green 2
black 7
yellow 3

For the pictogram, children should have drawn
1 t-shirt for green and 3 % t-shirts for black.
b) T-shirt icon = 2 t-shirts
4, Children should have drawn the following number of
ice cream icons in each row:
strawberry 5
vanilla 4
chocolate 23

Children could have given different answers but should
have been able to justify their choice, e.g.

| prefer to use a pictogram because | find the pictures
easy to count.

| prefer to use a block graph because it has numbers on

it so | can read the information easily using the numbers.
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End of unit check

=» pages 56-57

My journal

Children will need to realise that Ola is incorrect as
the amounts are equal. They should make use of the
vocabulary provided in the workbook to form their
answer, e.g.

Olais incorrect because there are 4 red and 4 purple
cars. This means the amounts are equal.

5 pears, 7 oranges and 10 apples plus 3 bananas =
25 pieces of fruit

Children could use counters or cubes of different colours
to represent the fruits but should not try to complete
the block graph before they know how many of each
fruit is needed. Children will need to use reasoning to
reach the correct answers.



